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2 Oooon

00000 (optimization problem) 0000000000000 0000O0O
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fO0000DO0 (objective function)0SO O 00 O OO (feasible region)0 0 (2) O
0000 (constraint condition) 0000000000 x € SO0O00O f(x*) <
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fx)DD0O00 x € SO0O00O (optimal solution) 0000000 f(x)0DO0OOO
(optimal value) 0 0 0O O

000000000 —f(x)0D0O0OO0D0D0DO0ODOOOOOOODODO (HOoDo

gboobgoboobon

3 GLPKOOO

gobbobuogoobboooobobobooon

glpsol -m O OUO0O0OO0ODO -d 0DD00O0O0O0OOO

gogbobobuooogooboooobobbooooobbbtd-ngoooobog
gogobbbbboooodoobbbbbdioddiglpsol -hOOOouogyg
gobbobugoobbooogoobuoooobbouoooobboood

-m ooooooooon
-d ooooooooon
-0 ooooood
-y oooooon
--simplex 0000000 (Dooooon)
--interior goooogo
--min oodooooooooo
--max oodooooooooo
--check ooooooooooood
—-nomip MIPO LPOODOOO
—-wmps MPSOOOOO (ODOODODODOOODOODO)
--wlpt CPLEXOOOOD (DODDODDOOOD)
-—Wtxt 00000000000 (OoOoooooon)

gboooboobboobuooboobbobboobboobooobobo
gobdbdoubdbUglpsol -m modell.mod -d datal.dat -o resultl.sol
--wlpt cplexform.txt -~ min UUUOOOOOOOOOODOOOOOOOO0O
resultl.solJCPLEXODOOODOODN cplexform.txt D0 D OO00OO00OODOOO
googooood
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gboooboobboobboobbuoobboobooboboooboon
gb0d.datDO000000DOO0DOOO0ODOOOO0ODO0ODLO0ODbLOODDbDOn
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00 (set) D0 0000O0O0OO0OOOODOOOOOOOOOOOOOGLPKOO
set 00O OOOOOODO

5.1 JUUUOoooogdad

g

set 000{00OOOOO,OD};

0)000000 NodeO OO

set Node;

5.2 JUO0Oooboood

0000000:=0000000000000
0)NodeDOOOD1,2340000

set Node := 1 2 3 4;

6 LUOUOon

00000 (parameter) 00 0000000000000 O0OOOOOOOO
O0OGLPKOO param0 0000 0OO0O0OOO

6.1 UUOODLOOOO0OO0OOO

EEN

param 000000 {00000O0O ,00 };




0)000000000000 Cost; i€ NodeO OO

param Cost{Node};

6.2 UUOOLOOOOOOO

ggobobbbboodooooooobbbbbbi1ibbbbbbobodado
gbogboboobuodobda2b000bogbudgbooboobboobad
gogbooodgo

0)000000000000O00000

g (gg
1 )
2 3
3 6
4 9
oo 1)
param Cost :=
1 5
2 3
3 6
4 9;
o0 2)

param Cost[1] :=

5
param Cost[2] := 3;
param Cost[3] := 6
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param Cost[4] :=

0)00000000000(ooooooon)



O |00 (00
1 p 10
1 q 20
2 p 15
2 q 23
3 p 12
3 q 18

gobbobooooobobbuooooobobbboooobbbuoooooo
g1g0obbooobo20b0bdd0odiooooooobbooonoboooon
gooooooon

gboboobobobob0 U000 O0O0b00b0Ob0Ob0Oexrd
0000 (transpose matrix) 00000000 1) 0000000 2)0+tr00
oo

oo 1)
param Val: p q :=
110 20
2 15 23
3 12 18
00 2)

param Val(tr): 1 2 3:=
p 10 15 12
q 20 23 18

0)00000000 (000000000)

ugb |00 (00 |0oo00bo
1 2 1 10
1 2 2 15
1 3 1 13
1 3 2 17




0o 1)

param ArcResourceFC :=

12110
12215
13113
13217 ;
o0 2)
param ArcResourceFC[1,2,1] := 10;
param ArcResourceFC[1,2,2] := 15;
param ArcResourceFC[1,3,1] := 13;
param ArcResourceFC[1,3,2] := 17;

0)0000000000oO0ooooooooO

goboooboboooobboogbbooobbooobbooobbood
gibbbO0O0param U000 :-gdbgobbbooooboboogd
gogobbbuogooobobobbbtboooooooobboboboouagd
gogooo

g0 (g0 o0 ob (ob0bbod (booggobo
1 2 1 1 1 3
1 2 2 1 2 6
1 3 1 1 1 4
1 3 2 1 2 8

0o)

param: LT CT:
12111
12212



131114
132128 ;
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00 (variable) D0 00 0000000000000 O0OOOOOOOOOOO
O0000GLPKOOvar0O0O0O0OoonoonbooooO

var 000 {000000,00}

0)200000000 Flow;; i€ Node, j € NodeD GLPKOOOODOO

var Flow{Node, Node};

7.1 OOooogdg

gbbogobbodgbbuogobogoboboboobbooo-1ooooog
ggbbobuooobobb2000bbbuogobobbbooobbboooon

oogno oo
integer gd
binary 0-100

O00/000 |0000

0)0DzezZtO0OOOO

set x integer, >=0;

8 oy

0000 (constraint condition) 0000000000000 OOOO0OOOO
GLPKODO s.t. 000 subject to0O0DOOD0O0O0OO0O0DODOOO

s.t. 00000 {000000,00} O

0)
Z Tir < M Vi € Node

rERes



S.t. COND1{i in Node}: sum{r in Res}x[i,r] <= M;

O00oO0vODOoODOobOoooObDeO inDYy OsumOOO0O0OoOoOoOoOOoOO
gogobobolgiligooooo

9 Ooog

0000 (objective function) 000 0000000000000 OOOOO
00000000 (maximize) 000000 (minimize) 000000000000
oooo
GLPK OO maximize 0 0 0 minimize 000000 OO0O0O0OO0O

lminimize 000D00: O |

O0o0oooooon
0)oooo :
min . Z Cost;z;

i€Node

minimize OBJ: sum{i in Node} Cost[i] * x[i];
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000 GLPKOOOODODOODOOGNUODOOODODODDODODOODOOoOoooooo
gogobbobbbouodoooooobobbbbboouooooobbboagd
goon

10,1 OOOO0OdO0

+ 0o
- 0o
* 0o
/ 00
less A>BOODOA-B,A<BOOOO
div A/BOO
mod A/BOODO
*goo - AO BDO




10.2 0O0O/00000

A<B A< B

A<=1B A<B

A>B A>B
A>=1HB A>B
A<>BOOO A'=B A#+B
Ain B AeB
AnotinBOOO A!inB| A¢ B
A within B ACB

10.2.1 0000000000

g

’if(DDD) then UODOOUOOOO else DUOUOOOOODO

0)00t#1000 X,,0¢t=10000

if(t!=1) X[t-1] else O

10.2.2 0OO00O0OO0OOOOO

g

IEEEEERERE

0)>;0000000000

Yo owy o (1> )

(i,5)€Arc

sum{(i,j) in Arc : i > j} wl[i,]]

10.2.3 withinOOOOOOOOOO

UbbobodbwithinOOOOOOOooOooooooooooboooboa
ggbbbuoobbboooobbobuoooobboooon

0)



set A;
set K within A;

gobbboookodooaAagobbboooobbobuooobbobbooon

set A :
set K :

12 3 4;
5;

10.3 OO0OO0OOO0

A union B oood AUB
A diff B o0 A/B
A simdiff B\ OOOOO A® B
A inter B oooad ANB
A cross B oooo Ax B
a. b oooo @b 00000000000DOOOO

10.3.1 setofJ 00O

goobobobobboboogooobbobooooooobobobobboogd
gogbbbuoooobbboooobbbdoooobobogao
g

setof{(00 ,00) in 000 } (000000 ,00)

0)00 ARP(D (i,j),00 (r),00 (p)0300)000 (i,j))000 (p)0 200
00 APODDOO0O

set AP := setof{(i,j,r,p) in ARP}(i,j,p);

104 0O0OOOOO

gobbbuoogbbbuooogbobuoooobbobuooooboo
0)000000oooo

param p default 9999;

gooobbbobobouoooooobbbobbbuooooobbbobboooago
Opdo99oninonon
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10.5 displayd g

display U0 OO Ooooooood,;

displayUOoooonoDouooooooooboboooboouodoooooon
gogoobbobobooooooooobboobbboooooooobobobobbboooa
ggbbobuooobobboooobbobooogboogao

11



11 AMPLOODO

AMPLO GLPKODOODOODOOODOOOODODOODOOODOOOODOOO 300
gogobbbbbbuooooobbbbbbobouoooobbobbboogo
gogoobbooboboboogooobobbbodgooooobobobbougd
goooon

11.1 AMPLOOO

AMPLO GLPKOOODAMPLOOOOOOOOOOODOOOOOOODO
goobobbbodoogooobbobbboogooooobbobboogd

ggn
O0000000000amp1:0000000OO0O0OO0OO0 AMPLODODOODOO
ggobbbbbtbouooooobbbbbouooooooobobbboagd

gobobooood

model gobobooogon
data goobooooon
solve godd
option solver gooooog
expand goggd
show gboobobobooboobooon
display gobbbuooggbboboooobobuoooooo
reset goboboooobboood
quit AMPLOOODOOO
exit AMPLOOODOOO
let gboooobooobooo
commands gogooooooooon

00000000000 m1.medd0 0000000 model mi.mod; OO OOOO
000000000 DooOo0000oDoOo0oAMPLOODOOOOOODODOOO
doddoooooooooooooooooadad

0000000000000 0000000000commands 000000000
UO0O0O0OUOoption solver cplex; model ml.mod; data dl.dat; solve; U
0000000000 coml.ems 0000000 ODOOOODOOOODODOOOOO
0 commands coml.cms; 0000000000000 OOO0OOOOOOOOO
oodooooooooooaa

expand 00000000 0OO00ODOOOO0OOOOO0ODOODOOODOOOOO
Oo0dooooooboOoooooooooooon
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O00000b0ob00obobo0b0o0b0obb0obU0b0b00O0reset; DOOO0O
U000 quit; D00000O00ODOODOOOOODOO
goooooboooooMNes(ODOOO)ODOOOODOODOOOOMIPOO
O00000000OMIPOOOOOOoption solver cplex; 00O OCPLEX(O O
goooo)oooobooboboboboooobogoo
AMPLOOOOOOODOOOODOO
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12 O000O00O0

12.1 O0O0o0ooogd

unbounded (or badly scaled) problem.

g

e JOUUUODODLDDOOOODLDOOO
g1

e JOUUUDLODDOOUOODO

e JOUUUO >00DLOUO0OLODLDOUOOUOLDLDOO

12.2 QJO0OO0O0OO

(D00 or0000O00) must have * subscripts rather than #

Oo0oodb0=,#0000000
g
e JOUOODODDOOOOxLDOO#UIDDDODUOOODLDODOO
g
e UUDOUOODOOODODODO
e 1000O0DO10000000DOO0O0DLDO0ODOO

e [1) set Node; set Arc{Node, Node}; var X{Arc}; OO DOODODOO
XU Node2UUOUOUOOOOOOOO
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12,3 0OO0O0O0OO0OOO

(OO0 or000ggg)lO] out of domain

g
e JJ00DDOD(DODDOUUUODDODODDOODO)
ob1
e JDOUODOODLODLDODOODLOODLOODO
e JDOUODODDLDODDLOODLOODLOODLOODOODOOD
e J0O{1..N}UDOODDOODOODOODOODOOODODDOOODODOODODODOO
go 2
e UUDOUUODOUODOODOODDO

e OO O0ODLOODODOODLOODLODLODLOODDODLODLOOODLODLODLO
googd

e GLPKOUDOUODOOOODODODODUODUODOODOODODODOUDOODO
gbobobogbooobobobobooboooboobobobon
goooogoooo
gbgobgobobbobooboobooboobood

12.3.1 00O

ggooood
param T; # UUO0OOOO0OO0ODOOOO0O0OO
set Period := 1..T; # UUUOOUO0O0OODOOO0OOOOO

ggooboobod
param T:=10; # U0 DO 0OOUOO0O0O0OO0OOOOO0O0OO0OOOOO
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12.3.2 00O

ooooooo
param T; # JO0O0OO0O0OO0ODOOOO0OO
set Period; # UOOUOOOOOOOOO

gooooon
param T:=10; # U0 DO 0OOOO0O0OOOO
set Period := 1..T; # JU0OOUOOO0OOODOOODOOOOOOOO

gobbuodgbbooobbuooobbooobbuooobboobobbood

124 0O0O0OO0O0OOOO0OOO

syntax error in set statementset LU0 =

g

e OUOUUODLOD:=000DLO0O0=0D00000

g

o =0 0OO0OOOO

vBOOOODoOOooOoobooobooobooboobo

ggbbobuoooobbboooobbod

parram 000000000000

12.5 000000

’operand preceding = has invalid type

g

e if0000O0O0ODOODOODOO

16



g
e J00x>00000y=10000000000#00000O00O00C0O0OO
e UOUUODLUOODOODDOODODDO

o f000DOO0O0DOOODOOOODOOOODOOOOOOODOOOODOO
goooboboooo

00000 http://www.ampl.com/FAQ/0 000000000 OOOOOOO
gbooboobgod
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